Division par 10% (G)

Trouvez chaque quotient.

6,921 + 10% = 1,85 =~ 10% =
4,23 +10% = 5,0769 ~ 102 =
3,9 + 102 = 7,26 = 10% =
9,5834 + 10% = 8,5603 +~ 10% =
8,622 + 10% = 6,2+ 10% =
7,96 - 10% = 79 +10%=
9,9949 + 102 = 1,8 + 102 =

2 +10% = 7,7 = 10% =
9,6 + 10% = 1,1+10%=
8,979 + 10% = 3,6 +10% =
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Division par 10% (G) Solutions

Trouvez chaque quotient.

6,921 + 10%* = 0,06921

4,23 +10%=0,0423

3,9 + 10%=0,039

9,5834 + 10 = 0,095834

8,622 + 10%* = 0,08622

7,96 = 10%>=0,0796

9,9949 + 10% = 0,099949

2 +10%=0,02

9,6 +10%= 0,096

8,979 + 10%* = 0,08979

1,85 + 10*=0,0185

5,0769 + 10* = 0,050769

7,26 + 10 =0,0726

8,5603 + 10? = 0,085603

6,2 + 10%= 0,062

7,9 + 10°=0,079

1,8 +10°=0,018

7,7 +10%*=0,077

1,1 +10*=10,011

3,6 ~10%>=0,036
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